h 3% : THE - &7 /— QO [R9&E]
I T T

N—1t1. fREFREOBER
GIRE) 2o0%, pLanEbiz 2WHRAX? -3XH =00 THD & X,

p*+q° =3(p+q)+7 DfEAE KD SV, (H22 EBH )

e e

[5 2]

OB p & qledT, ®>F,

X= ptq=  ,pq=

@ Z oM T < R, OHTELDOERATD L.

CaRRAFIH L TIRATE HIEID)
@X* —3xH=0LHRDEDIEHT L. p2rq2-3(p+q)t7

DENTENDHZLRD & =

® & 0 KOBIURASHR Y 325
MR & FRE DB |

|
DO

ax’+ox+c=0pfnp rqmex, |PTA4=—= pq

vefif LR DR - T, b O ~EREE N TAH LD !

Dplgnrebld @ hbERATD L.
2 W FHFER X2 —3x+H = 0 DfiE7 D, p2+q2_3(p+q)+7
+q=—— R =
PT(q 1 pPq 1@@& _
ptq= , pg= _

U ]
FHE) IROBZE 272 &0
(1) X*=6x+7=00 250z p,qLT5L &, WOXDEERDZR S,
@ p+q @ pq @ (p+a)’
(2) xX*-10x+3=0D 2 5DfF% p,q & L= &, p?+@? DfEZRD RS,



H 3 THE - 77/ — O [i#]
i,
N—1t1. REFEOBER
GIRE) 2o0%, pLanEbiz 2WHRAX? -3XH =00 THD & X,

p*+q® —3(p+q)+7 DiEE kDR SV, (H22 B )

e e

(5 2 5]

OB p & qledT, ®>F,

X= p,q p+gq=3,pg=1

@z DENHTL BRI, OHTEX=LDER/RATS &,

(x=p)(x-0q)=0 G A L TIRATE 2810)

@ X2 -3+ =0 L KRB E=DICEMTS L. p>+q° -3(p+q)+7

X?H(—p - q)X-+pg = 0 =(p+a)* -2pg-3(p+a)+7
=32 -2x1-3x3+7

@OFNETNOHEELARD & =5

-p-q=-3. pg=1

® & 0 KOBIURASHR Y 325
MR & FRE DB |

|
DO

ax’+ox+c=0pfnp rqmex, |PTA4=—= pq

vefif LR DR - T, b O ~EREE N TAH LD !

DpLqintblc @InbERATS L.

2 R X? — 3+l =0 D7D T, p’*+q*-3(p+aq)+7

ptg=-—2 pg=lroc. = (p+a)* —2pq-3(p+a)+7

1 1 =3% - 2x1-3x3+7

p+q=3,pq=1 =5
A,
FHE) IROBTE 272 &0

(1) X2=6x+7=0D2o0f% p,q &+ 5L X, WORDEERDAR S,

@ p+q @ pq @ (p+a)?

(2) xX*-10x+3=0D 2 5DfF% p,q & L= &, p?+@? DfEZRD RS,



	中学数学映像授業[中３テクノート① 問題]
	中学数学映像授業[中３テクノート① 解答]

